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BIOLOGY (U155 )-018 o
Q.Paper: I (Objective Type) (oSl GAFHZ I« gy
Time Allowed : 15 Minutes PAPER CODE =7467 <2 15 5 =3
Maximum Marks : 12 12 & /L)’/
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Note : Four possible answers A, B, C and D to each guestion are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that gquestion.

Diazepam is a drug of : D lnpldipii -
Analgesics d‘c{kl (D) Antibiotics J‘er',u”:'l (C) Sedatives % i~ (B) Vaccines K“f: (A)
The enzyme which used to dissclve blood clots is : : q.f'!rliﬂlsi.}?fu;}‘}f.uﬁ 2
Urokinase = §.¢ (D) Tripsine %/ (C) Pepsin 7 (B) Amjlase )ﬂébﬁf (A)
Making a normal pigmentation is example of : Aol ge et MW&L 3
Chromosomes jrr:f (D) Traits J‘:-} (C) Genotype ..,?.5 b5 (B) Phenotype * 7 (A)
Encyclopaedia " Al-Tasrif" is written by : : a‘:...a«:""'&// "...éf/ﬂl" Ll Jlant |4
AlHaithamA®) (D) Al lbn-edsa (=t (C) Aby;al QBRI (B) Al-Farabi JLEI (A)

The length of spinal cord is : : »:-_L}LJJ 3)‘{{):‘:{:-' 5
#E=70 cm (D) #5780 cm (€) H5%40 em (B) HE<20 em (A)
Female reproductive part of flower is : : - 9bufwd¢)?a;t{dg 6

Petals ¥ (D) Sepals ¥¢° (C) Androecium (-i.uif:_l (B) Gynoecium ffg:ébé (A)
Charles Darwin proposed the m@gh&Rism of organic evolution in : : gx:f:ﬁ'&,/’?rﬁziayté.u»!iu{:ig i
1900 (D) 1930 (C) 1882 (B) 1838 (A)
Non-renewable resglirées are = : L,gJJlr»_,.Af'“JG't 3
Soil §* (D) water Ji (C) Wind 57 (B)  Fossil fuels 77 (A)
The disease in which destruction the wall of alvedliis : I pﬁ&ﬂg&fgj;@:&jﬂ{x’:b’fu{d&u g
Bronchitis u’" #5')..: (D) Emphysema L‘:Lﬁf (C)  Pneumonia L’/ (B) Asthma .+ (A)
Example of vegetative propagation by leaves is : : :;_.dlf*J_,ﬂuie T 72?-?1 :a_’.;iﬁ:‘%. 10
Bryophylium (<1 (D) Garlic 7 (C) Potato #7 (B) Mint 528 (A)
Number of bones in appendicular skeleton is : g..JFﬂJug.;uf;,igigim ):.-(J:;i 11
146 (D) 136 (C) 116 (B) 126 (A)
The smailest bone in human body is : q-d%é:{;wd/()d{,—'f 12
Vertebera | a3, 4 (D) Malieus ¥ (C) Incus Jq (B) Stapes u:;;, (A)
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10 2. Write short answars to any FIVE (5) questions : afl aiiz & L i (5) ﬁ = &f -
(i) Explan stomata Ferlnle~ )
(i) WWhatis alvesius? % Wi W)
(it} Expiain tharmareguiation ..“';:J#ML#E.P_.} ()
[l¢] Dakine ssmasia. AR ()
ivi Explain renal palvis -ﬁ'i-‘m.[:._."ﬁ.;, + [¥)
{wil Explan reflex s Eoemf i )

(wil] What s myoma?
dwil) Explain owal wandow
12 3. Write short answers to amy FIVE [5) guestions - é =hE ,-'#

41 Differgria botwaen Compast and spongy bone ng-.i;?:J:n-n:G'r i
(i) What 1 meant by antuponism? Q e dle o S (i)
(Fl) WWrite wo advantages of vegetatee prapagation &I};..-__,_.SL,.H 25 ey ()
(i) Write the lunctions of hium and micropye in seed el FieFLad 25 ()
(v} Differentisie between epigeal and hypogesl . _igﬁ,tp-‘-*',’aﬁ'g T
{wi} Define traits also gowa am exampls. _"g,':':._.|15'.rpl£..§' AV {wi)

(wil} Differsnliste bebvesn homozpgo

hederozygous genoclyme
{wil) ‘What are bresads and cul

10 4. Write short answers
{i] Define communi
(i) ¥Whalis afood
(it} Dl a
{mep Wh ant O
(W) What ta endrophn 8
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[wi) What are phamaceubes| arugs? .P,J_ﬂ,_-j,_nfﬂﬂ i)
(wil) WWliad is beron, whal is its effect gn GNED te b MUZCNSELN " o poher (vil)
Iviil] Forwhal puspeose vaosines sne usesd? 0.8 ;,m_ﬂ.".-'ﬂ;;'.._..i"-._.l‘rﬁ ()
{ PART-11 fo .} .
Mt - AHompl ary TWO Geasiions :45;_-14-.__1.%-“..:. ..-s c
§ 5. ial Describe indetail osmabo adjustnents in piands. ke JE T B oy (8) .5
4 (bl Wrea 3 nole on nende eell of newren Efed featal i JE ()

2 B (a) What is skelston? Explan the componends _ﬁyupﬁuﬁij._@i_.ﬁuﬁl T .-;|_,=}-_,.,;,='='*'-’ % .6
Al humdan skeketon :

4 (b} What & seed genningtion? Explain .2 2+La {0 e edaid Lo Te wode ol E (L)
congitiang for soed gemrminatan

5 7. (a) Oescroe i delnil the biole componens of aeasystem _cf__..JE.J“,"._I'L.;'h:.;ﬂ_ﬁ?-_&:.._-""l (9.7
4 (Bl WWhal are She obiactives of genehic anginsesnng” % 'J--‘i-ul-'?:a.;;'i it ()
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